Sets and the Real Number System name
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1. Use proper set notation to write the set of numbers {S) that is between 0 and 50 AND are squares of

counting numbers. - } o e S PR \/. |
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2. Using proper set notation to write the set of all whole numbers (W) that are greater than 5, less than
25, AND multiples of 3. 4 7., -
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3. Whatis a subset? Is it possible for the original set to be a subset of itself? 5, b, G
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ACC and CCB, is it true that ACB? Explain why or why not.
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6. Given § = {1,2,3}, list the eight sub%etsa%f
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7. How many distinct subsets are possible for each of the following sets of numbers?

a. {1} = "2
b.{1,2} + &
c. § = §

8. GivenA={1,2,3,4,5,6},B={1,2,3,4},C={2,6},D={4,5}. Find each of the foliowing:
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a.The 27 of{a, d,jland {j,c, m}is{a, m,c,j, d} vl towgs( WYy 00

b. The 2?7 of{-2,-1,0,1, 2} and {0, 4, 6, 8} is {0} iMWﬁﬁ:ﬂ@M {0V} AW
c. The 2? of {2,5,8}and {0, 1}is @ \WITELSEr 10w - ; £y AMD

10. Which of the following are true?

T a. There is no least real number

"1 b. Zerois a real number

“T~ ¢. Negative numbers are real numbers

?j d. No irrational number is a real number ﬂ?@ﬁﬁm

“{ e. Arational number is a number that can be expressed in the form %

£ f. The number 3.1416 is not a rational number
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Given A-=the set of real numbers
B = the set of integers
C = the set of rational numbers
D = the set of irrational numbers
E = the set of counting {Natural) numbers

F = the set of positive numbersé - @
. Daﬁﬁ 3
y=3

a. Which of the above sets are subsets of A? of B@\ﬁ C?W
b. Which set is the intersection of A and C? (. e BLE, D
. Which set is the union of Aand C? &,

d. Describe CN D
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Is it possible for (x + y) to be a counting number if x us a counting number while y is NOT a counting
number? Explain why or why not.
yes:; (o= |
Find two irrational numbers whose sum is 10. h . .
ey 2+ 4 3= 0 theirsumis 1D
Find two irrational numbers whose product is 10.
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Write each of the following statements in terms of one or more inequalities.
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a. k is a positive number d. s is a nonnegative number
<> O S

b. ris a negative number e. yis anumber between 2 and 3
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c. tis a number that is not positive f. wis a number that is greater than or equal to ¢
A Loy and less than or equal to b
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. Shade the regions representing the sets. NOTE: Set X is the square area, Set Y is the triangular ares,

and SetZis the circular area.
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What do you notice about the shaded regions in parts a & b? in parts ¢ & d? hmmm...
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16. Refer to the diagram and list the members (numbers) that make each of the following true:

a.DNE bh.DUE c.FUE
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17. Graph each of the foliowing on a number line.

b.]—xl<1 c.x>2andx>-3
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e.x>0 f.x<-3orx>-2
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h. [x] =3 iL.x=-5andx<1
& & A WAL
e & = 1
~h O3 S

18.Given A=1{1,2,3,4,5,..}, B={2, 4,6, 8,10,..}; and C= {1, 3, 5,7,9,..}. Find each of the following:
<NOTE: The three dots form an ellipsis, which means to continue on>

a. AUB b.AUC c.BUC dANB e, ANC
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19. Solve and graph on a number line.

a.2(x—6)—3x>4-2{x-1)
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b.8-2{3x+7)<5x—-3(2 - x}
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d.9-5{x—-9)=4(2 ~x)
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